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6.  Write the note on network of Highways in your

country.
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3T T H ISHARI & wedd R fewol ford |
(Fourth Semester)

7.  Describe of the Livestock in India.
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8. What are the major sources of irrigation in India ?
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Note : This paper is of Eighty (80) marks divided into two
(02) Section A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION—A
YUls—dh
(Long-Answer-Type Questions)

(el ST a1t g¥)

Note : Section ‘A’ contains five (05) long-answer-type questions

:ﬁE,’:

l.

of twenty (20) marks each. Learners are required to

answer any two (02) questions only. 2x20=40

Qus ‘H H did (05) < SR arel ye e T g,
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Explain Monsoon Mechanism.
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Write the difference between the rivers of north India
and south India.

IR IR AR SR 9RT &1 Al 7 iR falkay |
Write the factors responsible for the uneven distribution

of population.
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Write the types of iron ore.
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Write the favorable condition for the establishment of

cotton textile industry in India.
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Are you agree with the statement that ‘there are few
responsible factors for the development of Industry’ ?

Write the distribution of coal producing region in India.

PIT 3T 39 HIT I FgAd & fb SaT & fdbr™g &
fou BB RFRR oRE 8 9Rd H B SR
&3 BT faaror forfu |

Write the availability of favorable conditions for
hydroelectricity power in India.

R H Sfel faggd wfdd & fou argeret aRRerferal ot
Iuererdr forfag |

Agriculture is the back bone of Indian economy give
the answer with the example of suitable required physical
condition and distribution of Wheat crop in India.
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Are you agree with the statement that ‘there are few
responsible factors for the development of Industry’ ?

Write the distribution of coal producing region in India.
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Write the availability of favorable conditions for
hydroelectricity power in India.
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Agriculture is the back bone of Indian economy give
the answer with the example of suitable required physical
condition and distribution of Wheat crop in India.

HY AR 3rieael @ 3¢ ¢, g & Bdd & oy
SUYEd ATTeIH Hifcrep Refd 3R faaror Iarevor &
e forfau |

GEG-606/6 (3) [P.T.O.]



Note : Section ‘B’ contains eight (08) short-answer-type
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1.

Write an essay on Tehri hydro power project.

feedt S faga uRaren o ey foRay |
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(Short-Answer-Type Questions)
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questions of Ten (10) marks each. Learners are required

to answer any four (04) questions only. 4x10 =40
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Discuss physiographic division of India.
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Note : Section ‘B’ contains eight (08) short-answer-type

Write an essay on Tehri hydro power project.
feedl St faga uRaemn w ey faRag |
SECTION—B
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(Short-Answer-Type Questions)

(g S aret Uw)

questions of Ten (10) marks each. Learners are required

to answer any four (04) questions only. 4x10 =40
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1. Discuss physiographic division of India.
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